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_28_




2-4, A

T7|ERIR,

= (Y39

A
F__|1_HI- O] S AKX

F7|EHHY ) (34.6%),
"60~69M, BAKZL 71+

aaodl,

- T29M| O[3}, SAtAtE TAHIA

<22-4> AYY

reof o
TMH|AY O A= T50~59M, ZAKIZL 7h% B
r&seb gI SAIN
=1, "MH[AY

USE SAMA =

[I|0

[ Ry i s |

1(5.1%), T7IERM

I A0, 0= "60~694A

211(29.3%),
JOlAE T50~59M, 7t 34.2%, 2 7} o =5

=of 8

FA(2.1%)0 A 7HRE &2

BEE SAHAL

SAMRE 7FS B,

21 (284%) 0=

294 0|5k 30394 40~a9 4| S0~59.4]| s0~50.A]| TOM| O] &F
T Of O A~0fat B7% 7.5% 13.3% 26.4% 28.4% 15.6%
==t Ol S A& o 11.6% 9.9% 12 9% 24 7% 29 3% 11.6%
AH|~9 I53% 88% 17.6% 34 2% 22 8% 11.8%
2. 1%
Z| EpAbod 12.0% 16.8% 26.7% 34 6% 7.9%
(AHE-LTE SAAL )
<H2-4> AHE-LTE TAX 5
(EHQl: H, %)
_E_ '6|;|+ gl gl A dF Ol
i A S SEE | weze | sewe
2 A 1,570 735 372 272 191
- H & 100.0 100.0 100.0 100.0 100.0
29M| O[5} 124 63 43 14 4
- H & (7.9) (8.6) (11.6) (5.1) 2.1)
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